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Non Symmetrical Large Deformation of
a Shallow Thin Conical Shell

Wang Xinzhi Zhao Yonggang
( Gansu University of Technology, Lanzhou 730050, P. R. China)

Yeh Kaiyuan
(Lanzhou University, Lanzhou 730000,P.R . China)

Abstract
In this paper, non symmetrical large deformation problem of a shallow conical shell is studied by
two parameter perturbation method. The third order approximate analytical soluion of the deforma-
tion of a shallow conical shell subjected to linear loads is obtained and the characteristic curves of
loaddeflection on a perturbing point are portrayed. The similar questions of other kind of shell and
plate can be discussed by using this paper’ s method. As the examples, the large deflection of plate

and shallow conical shells with different initial deflections is discussed.

Key words shallow thin conical shell, non_symmetrical, large deformation, two_parameter pertur-
bation method



